

,
,

,

.

.

.

,

,

.

-

1. :

) $ax^2 - 2x + 1 > 0$, a ;

) $by^2 + y + 1 < 0$, b .

.) a

_____ . $a = 0$. $-2x + 1 > 0$
 $x < \frac{1}{2}$.

_____ . $a > 0$.

$D_1 = 1 - a$, :

1) $D_1 = 0$, . . . $a = 1$, $x^2 - 2x + 1 > 0$, . . .
 $(x - 1)^2 > 0$, $x \neq 1$;

2) $D_1 > 0$, . . . $0 < a < 1$, $x \in (-\infty; x_2) \cup (x_1; \infty)$,
 $x_{1,2} = \frac{1}{2}(1 \pm \sqrt{1 - a})$, $x_1 > x_2$;

3) $D_1 < 0$, . . . $a > 1$, $x \in (x_2; x_1)$.
_____ . $a < 0$. $D_1 > 0$ $x \in (x_2; x_1)$.

.) a .
_____ . $b = 0$. $y + 1 < 0$
 $y < -1$.

_____ . $b > 0$. $D_2 = 1 - 4b$, :

1) $D_2 = 0$, . . . $b = \frac{1}{4}$ $\frac{1}{4}y^2 + y + 1 < 0$, . . .
 $(\frac{y}{2} + 1)^2 < 0$, ;

2) $D_2 > 0$, . . . $0 < b < \frac{1}{4}$ $y \in (-\infty; y_2) \cup (y_1; \infty)$,
 $y_{1,2} = \frac{1}{2b}(-1 \pm \sqrt{1 - 4b})$, $y_1 > y_2$;

$$3) D_2 < 0, \dots b > \frac{1}{4}, \quad by^2 + y + 1 > 0$$

y.

$$\text{_____}. b < 0. \quad D_2 > 0 \quad y \in (-\infty; y_2) \cup (y_1; \infty).$$

$$2. \quad (c^2 - 1)z^2 - (c^2 + 4c - 1)z + 2(c + 1) \geq 0, \quad c$$

$$\text{_____}. c^2 - 1 = 0, \dots (c + 1)(c - 1) = 0.$$

$$1) c + 1 = 0, \dots c = -1. \quad 4z \geq 0 \quad z \geq 0.$$

$$2) c - 1 = 0, \dots c = 1. \quad -4z + 4 \geq 0 \quad z \leq 1.$$

$$\text{_____}. c^2 - 1 \neq 0, \dots c \neq \pm 1$$

$$D = (c^2 + 4c - 1)^2 - 4(c^2 - 1)(2c + 2) = c^4 + 6c^2 + 9 = (c^2 + 3)^2 > 0.$$

$$z_1 = \frac{c^2 + 4c - 1 + c^2 + 3}{2(c^2 - 1)} = \frac{(c + 1)^2}{(c - 1)(c + 1)} = \frac{c + 1}{c - 1} \quad z_2 = \frac{4(c - 1)}{2(c - 1)(c + 1)} = \frac{2}{c + 1}.$$

$$z_1 - z_2 = \frac{c + 1}{c - 1} - \frac{2}{c + 1} = \frac{c^2 + 3}{(c + 1)(c - 1)}.$$

$$z_1 > z_2 \quad c > 1 \quad c < -1 \quad z_1 < z_2 \quad -1 < c < 1, \quad :$$

$$1) \quad c > 1 \quad c < -1 \quad z < \frac{2}{c + 1} \quad z > \frac{c + 1}{c - 1};$$

$$2) \quad -1 < c < 1 \quad \frac{c + 1}{c - 1} < z < \frac{2}{c + 1}.$$

$$3. \quad m, \quad -$$

:

$$) (m + 5)x^2 - 2(m + 1)x + 2(m - 2) > 0;$$

$$) (m - 3)x^2 - 2mx + 3(m - 2) < 0$$

x.

$$\text{.) } \quad m + 5 = 0, \dots \quad m = -5$$

$$8x - 14 > 0, \quad x > \frac{7}{4} \quad x.$$

$$m + 5 \neq 0 \quad x,$$

$$m + 5 > 0$$

$$D_1 = (m + 1)^2 - 2(m + 5)(m - 2) = -m^2 - 4m + 21 = -(m - 3)(m + 7) < 0,$$

$$\dots m > 3 \quad m < -7. \quad : m > 3.$$

$$) \quad m - 3 = 0, \dots \quad m = 3 \quad -6x + 3 < 0,$$

$$x > \frac{1}{2} \quad x.$$

$$m - 3 \neq 0 \quad x,$$

$$m - 3 < 0$$

$$D_2 = m^2 - 3(m - 3)(m - 2) = -2m^2 + 15m - 18 = -(m - 6)(2m - 3) < 0,$$

... $m > 6$ $m < \frac{3}{2}$. : $m < \frac{3}{2}$.

4. $d,$
 $\sqrt{(d^2 + d - 2)t^2 - (d - 1)t + 1}$ $t.$
 $(d^2 + d - 2)t^2 - (d - 1)t + 1 \geq 0$

_____ $d^2 + d - 2 = 0$, ... $(d - 1)(d + 2) = 0$.

1) $d - 1 = 0$, ... $d = 1$ $1 \geq 0$, ...

2) $d + 2 = 0$, ... $d = -2$ $3t + 1 \geq 0$,
 $t \geq -\frac{1}{3}$.

_____ $d^2 + d - 2 \neq 0$, ... $d \neq 1, d \neq -2$.

$d^2 + d - 2 = (d - 1)(d + 2) > 0$

$D = (d - 1)^2 - 4(d^2 + d - 2) = -3d^2 - 6d + 9 = -3(d - 1)(d + 3) \leq 0$.

$d \in (-\infty; -2) \cup (1; \infty)$ $d \in (-\infty; -3) \cup (1; \infty)$.

, $d \in (-\infty; -3) \cup [1; \infty)$.

5. k

$ku^2 + (2 - k)u + 3 - 2k \leq 0$

$u.$

k

_____ $k = 0$ $2u + 3 < 0$,

$u < -\frac{3}{2}$.

_____ $k > 0$.

$D = (2 - k)^2 - 4k(3 - 2k) = 9k^2 - 16k + 4$.

:

1) $D = 0$, $k_{1,2} = \frac{1}{9}(8 \pm 2\sqrt{7})$ $u_1 = u_2 = \frac{k-2}{2k}$.

$k(u - \frac{k-2}{2k})^2 \leq 0$ $u = \frac{k-2}{2k}$;

2) $D > 0$

$[u_2; u_1]$, $u_{1,2} = \frac{k-2 \pm \sqrt{D}}{2k}$;

3) $D < 0$.

_____ $k < 0$.

1) $D \geq 0$.

$(-\infty; u_2] \quad [u_1; \infty)$;

2) $D < 0$.

$$: k_{1,2} = \frac{1}{9}(8 \pm 2\sqrt{7}).$$

6.

d ,

:

$$) [0;1] \quad x^2 - x + d \leq 0;$$

$$) (0;1) \quad x^2 - dx + 1 < 0.$$

.)

:

$[p; q]$

$$f(x) = ax^2 + bx + c \leq 0, \quad a > 0 \quad f(p) \leq 0$$

$$f(q) \leq 0. \quad p = 0, q = 1 \quad f(x) = x^2 - x + d \quad f(0) = f(1) = d \leq 0.$$

$$) \quad : \quad (p; q)$$

$$f(x) = ax^2 + bx + c < 0, \quad a > 0 \quad f(p) \leq 0 \quad f(q) \leq 0.$$

$$p = 1, q = 2 \quad f(x) = x^2 - dx + 1 \quad f(1) = 2 - d \leq 0 \quad f(2) = 5 - 2d \leq 0,$$

$$d \geq 2 \quad d \geq 2,5. \quad d \geq 2,5.$$

7.

k ,

$$2x^2 + (2k + 9)x + 2k^2 + 3k < 0$$

$[-2; -1]$.

.

6,

:

$$[p; q] \quad f(x) = ax^2 + bx + c < 0, \quad a > 0$$

$$f(p) < 0 \quad f(q) < 0. \quad p = -2, q = -1$$

$$f(-2) = 8 - 2(2k + 9) + 2k^2 + 3k = 2k^2 - k - 10 < 0$$

$$f(-1) = 2 - (2k + 9) + 2k^2 + 3k = 2k^2 + k - 7 < 0.$$

$$-2 < k < 2,5 \quad \frac{1}{4}(-1 - \sqrt{57}) < k < \frac{1}{4}(-1 + \sqrt{57}).$$

$$7 < \sqrt{57} < 8, \quad -2,25 < \frac{1}{4}(-1 - \sqrt{57}) < -2 \quad 1,5 < \frac{1}{4}(-1 + \sqrt{57}) < 2.$$

$$-2 < k < \frac{1}{4}(-1 + \sqrt{57}) \quad k$$

$-1, 0$ 1.

8.

n ,

-

$$nx^2 + (1 - n^2)x - n \geq 0 \quad -$$

2.

.

$n = 0$

$x \geq 0$

-

$n \neq 0$

$$n(x - n)(x + \frac{1}{n}) \geq 0. \quad n > 0,$$

$$|x| \leq 2, \quad n < 0$$

$$(x-n)\left(x + \frac{1}{n}\right) \leq 0, \quad n < -\frac{1}{n}, \quad n \leq x \leq -\frac{1}{n}.$$

$$n \geq -2, \quad -\frac{1}{n} \leq 2, \quad -2 \leq n \leq -\frac{1}{2}, \quad -$$

$$-2 \quad -1.$$

9.

$m,$

$$x^2 - 3x + 2 < 0$$

$$mx^2 - (3m+1)x + 3 > 0.$$

$$m = 0, \quad x^2 - 3x + 2 < 0 \quad 1 < x < 2.$$

$$x < 3 \quad (1; 2)$$

$$m \neq 0, \quad m(x-3)\left(x - \frac{1}{m}\right) > 0, \quad m < 0$$

$$(x-3)\left(x - \frac{1}{m}\right) < 0, \quad \frac{1}{m} < 0 < 3, \quad \frac{1}{m} < x < 3 \quad -$$

$$(1; 2), \quad m > 0, \quad (x-3)\left(x - \frac{1}{m}\right) > 0$$

:

$$1) \quad \frac{1}{m} = 3, \quad \dots \quad m = \frac{1}{3}, \quad (x-3)^2 > 0, \quad x \neq 3, \quad 1 < x < 2;$$

$$2) \quad \frac{1}{m} > 3, \quad \dots \quad m < \frac{1}{3}, \quad x < 3, \quad x > \frac{1}{m} \quad -$$

(1; 2);

$$3) \quad \frac{1}{m} < 3, \quad \dots \quad m > \frac{1}{3}, \quad x < \frac{1}{m}, \quad x > 3 \quad (1; 2)$$

$$\frac{1}{m} \geq 2, \quad \dots \quad m \leq \frac{1}{2}.$$

$$m \leq \frac{1}{2}.$$

10.

$m,$

$$2x^2 + (m+7)x + 5m + 1 < 0$$

$$x^2 + 4x + 3 < 0.$$

$$x^2 + 4x + 3 < 0 \quad -3 < x < -1.$$

D

$$f(x) = 2x^2 + (m+7)x + 5m + 1, \quad D \leq 0, \quad f(x) \geq 0 \quad x,$$

$$f(x) < 0, \quad D = (m+7)^2 - 8(5m+1) > 0, \quad \dots \quad m^2 - 26m + 41 > 0,$$

$$m < 13 - \sqrt{128}, \quad m > 13 + \sqrt{128}, \quad f(x) < 0$$

$$x_2 < x < x_1, \quad x_{1,2} = \frac{-(m+7) \pm \sqrt{D}}{4}, \quad ,$$

$$\begin{aligned}
x_1 \leq -1 \quad x_2 \geq -3, \dots \frac{-(m+7)+\sqrt{D}}{4} \leq -1 \quad \frac{-(m+7)-\sqrt{D}}{4} \geq -3. & - \\
\sqrt{D} \leq m+3 \quad \sqrt{D} \leq 5-m, & \sqrt{D} > 0, \\
m+3 > 0 \quad 5-m > 0, \dots -3 < m < 5 & \\
D \leq (m+3)^2 \quad D \leq (5-m)^2, & \\
m^2 - 26m + 41 \leq m^2 + 6m + 9 \quad m^2 - 26m + 41 \leq 25 - 10m + m^2, & \\
m \geq 1. & , 1 \leq m < 13 - 8\sqrt{2}.
\end{aligned}$$

11. $k,$ -

$$\begin{aligned}
x - 4k - 1 > 0 & x^2 - 4kx - 15k + 4 > 0 \\
& x - 2k > 2k + 1 \\
(x - 2k)^2 > (k + 4)(4k - 1). & x - 2k = y & y > 2k + 1 \\
y^2 > (k + 4)(4k - 1). & (k + 4)(4k - 1) < 0, \dots k \leq -4 & k \geq \frac{1}{4} \\
y < -\sqrt{(k + 4)(4k - 1)} & y > \sqrt{(k + 4)(4k - 1)}. & - \\
y > 2k + 1, & 2k + 1 \geq \sqrt{(k + 4)(4k - 1)}. & k \leq -4 \\
, & 2k + 1 < 0. & k \geq \frac{1}{4} & 2k + 1 > 0 \\
(2k + 1)^2 \geq 4k^2 + 15k - 4 & 11k \leq 5, \dots k \leq \frac{5}{11}. & \\
& -4 < k \leq \frac{5}{11}
\end{aligned}$$

$k : -3, -2, -1 \quad 0.$

12. $a,$

$$\begin{aligned}
& : \\
) x^2 + ax - 2 < 0 & 3; \\
) 4x(a - x) - 5(2a - 5) > 0 & 2. \\
&) & x^2 + ax - 2 \\
D = a^2 + 8 > 0 & a & x^2 + ax - 2 = 0 \\
x_1 > x_2. & \\
(x_2; x_1), & x_1 - x_2 = 3. & x_1 - x_2 = \sqrt{D}, \\
\sqrt{D} = 3 & a^2 + 8 = 9, & a = \pm 1. \\
) & (2x - 5)(2x + 5 - 2a) < 0. \\
& \frac{5}{2} & a - \frac{5}{2}, \\
|a - 5| = 2. & \\
a - 5 = 2 & a - 5 = -2 & a = 7 & a = 3.
\end{aligned}$$

13. $b,$

$$bx^2 - 3x + 2 < 0$$

1.

- $\cdot \quad b = 0 \quad -3x + 2 < 0, \dots x > \frac{2}{3}$
- $\cdot \quad b \neq 0 \quad D = 9 - 8b, \quad D \leq 0, \dots b \geq \frac{9}{8}, \quad bx^2 - 3x + 2$
- $D > 0 \quad bx^2 - 3x + 2 = 0 \quad \cdot \quad b < \frac{9}{8}$
- $b < 0 \quad \cdot \quad 0 < b < \frac{9}{8}$
- $(x_2; x_1) \quad x_1 - x_2 < 1 \quad \sqrt{D} < 1, \dots D = 9 - 8b < 1,$
- $b > 1. \quad 1 < b < \frac{9}{8}.$

14. $c,$

$$cz^2 - (2c+1)z - 1 \leq 0$$

- $\cdot \quad c \leq 0$
- $\cdot \quad g(z) = cz^2 - (2c+1)z - 1 \quad c > 0$
- $D = (2c+1)^2 + 4c > 0. \quad g(z) = 0 \quad z_1 > z_2$
- $g(0) = -1 < 0, \quad g(z) \leq 0 \quad [z_2; z_1].$
- $\cdot \quad -1 \quad g(z) < 0, \quad g(-1) = 3c > 0,$
- $g(2) = -3 < 0, \quad \cdot \quad g(1) = -c - 2 < 0$
- $\cdot \quad 0, 1 \quad 2 \quad \cdot \quad z_1 < 3$
- $g(3) = 3c - 4 > 0, \dots c > \frac{4}{3}$

15. $m,$

$$mx^2 + 8(m-1)x + 7m - 16 \leq 0$$

2.

- $\cdot \quad m = 0 \quad -8x - 16 \leq 0, \dots x \geq -2$
- $m \neq 0 \quad f(x) = mx^2 + 8(m-1)x + 7m - 16$
- $D = 16(m-1)^2 - m(7m-16) = 9m^2 - 16m + 16 > 0. \quad \cdot$
- $f(x) = 0 \quad x_1 > x_2 \quad m < 0 \quad \cdot$
- $f(x) \leq 0 \quad (-\infty; x_2] \quad \cdot$

$[x_1; \infty)$, $m > 0$
 $f(x) \leq 0$ $[x_2; x_1]$, 2.
 $f(2) \leq 0$, \dots $4m + 16(m-1) + 7m - 16 = 27m - 32 \leq 0$ $m \leq \frac{32}{27}$.
 $f(-1) = m - 8(m-1) + 7m - 16 = -8 < 0$,
 $f(x) < 0$.
 $f(-2) = 4m - 16(m-1) + 7m - 16 = -5m < 0$
 $m > 0$, $f(x) < 0$.
 $0 < m \leq \frac{32}{27}$
 $f(0) = 7m - 16 \leq 7 \cdot \frac{32}{27} - 16 = -\frac{208}{27} < 0$
 $f(1) = m + 8(m-1) + 7m - 16 = 16m - 24 \leq 16 \cdot \frac{32}{27} - 24 = -\frac{136}{27} < 0$.
 $f(x) < 0$.
 $0 < m \leq \frac{32}{27}$ $f(x) \leq 0$.
 $f(3) = 9m + 24(m-1) + 7m - 16 = 40(m-1)$
 $f(-3) = 9m - 24(m-1) + 7m - 16 = -8(m-1)$,
 $m = 1$. $f(3) = f(-3) = 0$ $f(x) \leq 0$
 $0 < m < 1$. $f(3) < 0$, $f(-3) > 0$
 $f(-4) = 16m - 32(m-1) + 7m - 16 = 16 - 9m > 0$.
 $f(4) = 16m + 32(m-1) + 7m - 16 = 55m - 48 > 0$.
 $\frac{48}{55} < m < 1$
 $1 < m \leq \frac{32}{27}$. $f(3) > 0$, $f(-3) < 0$, $f(-4) > 0$ $f(4) > 0$.
 $: 2, 1, 0, -1, -2$
-3.

1. Becheanu, M., B. Enescu (2002). *Inegalitati elementare*. Bucurest: Gil. (973-9238-53-X), 156 pages.
2. Grozdev, S. (2007). *For High Achievements in Mathematics. The Bulgarian Experience (Theory and Practice)*. Sofia: ADE. (ISBN 978-954-92139-1-1), 295 pages.